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General Instructions :

1. The question paper contains two parts A and B.
Part-A :

. It consists of two sections I and II.

. Section I has 16 questions of 1 mark each. Internal choice is provided in 5
questions.

J Section II has 4 questions on Case Study. Each case study has 5 case-based
sub-parts. An examinee is to attempt any 4 out of 5 sub-parts.

Part-B :

J Section III : Question no. 21 to 26 are Very Short Answer questions of 2 marks
each.

. Section IV : Question no. 27 to 33 are Short Answer Type questions of 3 marks
each.

. Section V : Question no. 34 to 36 are Long Answer Type questions of 5 marks
each.

2. Both Part A and Part B have internal choices.

3. Internal choice is provided in 2 questions of 2 marks, 2 questions of 3 marks
and 1 question of 5 marks.

4. Please write the serial number of the question as per question paper before
attempting the question.

5. In questions of construction/graph, the drawing should be neat, clean and
exactly as per given measurements. Use ruler and compass only.

VIlI-Mathematics (1)



e &

1. 39 Y99-UF o & 9N 3 3R & B

qAOT-3A ¢

e T@YMH I e IR I

e We-IY 16 YT 2 F0H 8L TH F1 1 31k 21 5 U § a7dfer fasheu feu 7w )

e We-IIY hH Wl & 4 Y Bl UIF oY Wl § 5 ohy Wl W MG IU-9M T Teh
whenefl w1 5 W 9 frdl 4 IU-9FN HI A BN B

A T-B

e  We-IIl: 994 H&A 21 ¥ 26 31fd oY SW YR o e &, foraw 82 o33 & 2 3 2

e  We-IV: U¥H GE& 27 ¥ 33 d%h o SW ol YA & e 8 Tk U ok 3 Ik &

o  We-V: YUY HEA 34 U 36 Y I o U B FEH U & 5 % T

2. 9M-3 AR & <A1 A s fasheq

3. 2 3l arel WAl | 2, 3 3fehl ot WY | 2, 3R 5 Akl ATl gl | | Afales faehey ygM fKu
T gl

4, I faET IRT T ¥ T8 FUA G-I o STAR hHlh Tavd fad|

5. To o Al H To e 9 W B =ifee s fom f&d T Al o 31®y 811 Shaet YA qen
TR HT T H

Part-A ( 9TT-37)
Section-I (@s-1)

1.  Solve : (%Eﬁﬁrlﬁ):64§/x>9+m

2. In the word QUADRILATERAL which letter shows the rotational symmetry of
order more than 1 ?
QUADRILATERAL ¥is% & &H-91 316k T% 4 Ifuss ohd &1 wui4 gaffafd <orfar @2

3. Simplify : (8 FRM) : (1253 + 2) (1253 — 2)

4. Find the value of x

HREED]
o m - (5)°()'- 3

OR ( 31¥ar)
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Simplify : (¥ wifE0) : 4x1/5 ><6x4/5 x 50
5. Divide — 45x% by 3 xy2

8436
6. If N =84.36, then find the value of x.

7fg %ZS‘L%%, q ox 1 A JE IS

7. In the given figure, PQ || RS and EF || QS. If ZPQS = 60°, find the measure
of ZRFE.

@ T emepfa § PQ R RS wAMiR 81 EF 3R QS #ft s ©1 Ak /PQS = 60°
@ /RFE #1 AN @ &S R

OR (31¥ar)
A line segment AB = 15 cm is divided internally in the ratio 2 :3. Find the
length of each part. (Figure not required).

Th W@ @ AB = 15 9. ofafies 9 W 2:3 % U A fawifea Bt @1y W
# oo @ Hitu (Fos &AM eEvgs TE R

8. If x and y vary inversely. If constant of variation is 5, and y = 15, then find
the value of x.

i x 3R y fawlld ®9 9 s€ed © R y = 15 3R fa=ar &1 fems 52, @ x &
AH A Hife
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10.

11.

12.

13.

14.

3
Solve for x : (x %1 "M Hd hifIC AfI) 3—Zx:—12

Cards marked with numbers 1 to 25 are placed in a box and mixed thoroughly.
One card is drawn at random from the box. What is the probability of getting
a prime number ?

19 25 d% &I &N 96 FIEl F T & § W@ S 2 S s dte fheren S
B W H § Igfese ®Y 9 Th HIE (Tl Sal @1 SA9ST HEA UK e bl Wil
F 8?7

OR (319ar)
A man’s monthly salary is ¥ 4,800 and his monthly expenses on travel are I 240.
Find the central angle of the sector representing travel expenses in pie chart.
Tk AR o1 At dad T 4,800 8 3R a5 W SR WG @@= T 240 B UE =@
H 9e =E H UfaHfae I are &9 1 ShEid iU {d ehifeig)

After allowing a discount of 20% on the marked price of an article, it is sold
for ¥ 480. Find the marked price of the article.

TH 9% o Hfhd qod W 20% FT B2 A o O] W T 480 H 9= W@ T W AR
1 fehd oI Ad hIfST)
Find the product of (x + y), (x — y) and (x% + y?).
(x +y), (x —y) 3 2 + y2) =0 A% Jd I
OR (319am)
Find the area of rectangle whose two sides are (x — 3) and (x — 4).

ST A 1 &A%A T HifGT @l el (x — 3) R (x — 4) T

Name a 2-dimensional geometrical figure having an angle of rotation 90°.

3g fgfoda snfada ewepfa @1 M fafey fomer gofv &0 90° 2

Listed below are the temperatures in °C for 7 consecutive days :

MR || fedl &1 ame et afeesm & H= geieg 8-
-5,-40,3,1,5,4

Find the range of the data.

MHEl H1 GH @ HiTS
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15.

16.

The area of a trapezium is 1080 cm?. If the lengths of its parallel sides are
55.6 cm and 34.4 cm, find the distance between them.

T GuGs 1 @ 1080 = S @1 A el Wi S i e 55.6 9.
IR 34.4 9. B, df S o™ # U @ i)
OR (31¥ar)

The volume of a cylinder is 28 © cm?® and height is 7 cm. Find the radius of
the base of the cylinder.

TF I H I 28T T, ¥ IR EE 7 UMW, ¥ @ deM & SMYR & A 9|
|

The population of a town in a particular year is 10,000. If it increases at the

rate of 8% per annum, find the population of the town after 2 years.

T fogg o9 # wh wE w1 sHEen 10,000 B A u® 8 uiawd (8%) Wiged ki
WA agd Al g A" I W TGS A it

Section-II (@s-1I)

Case Study Questions are compulsory. Attempt any four sub-parts of each
question. Each sub-part carries 1 mark.

FH W UTRa uvw oftard ¥ S Uy o fRel 9’ SU-"T &l T Rl UdHh
IU-TTT &/ 1 37k B

17. There are 800 students in a school. They use different mode of transport to

come to school. Mode of transport used represented by pie chart as follows:

Bicycle
55%

Based on the above information, answer the following questions : (Do any four):

VIlI-Mathematics (5)



(1) Number of students coming to the school by bicycle is :

(a) 120 (b) 160 (c) 400 (d) 440

(2) Total number of students coming to the school by Bus and car is :

(a) 200 (b) 540 (c) 280 (d) 600

(3) Which mode of transport is liked by most of the students ?

(a) Bus (b) Car (c) Walking (d) Bicycle

(4) Number of students who do not come to school by walking is :

(a) 640 (b) 440 (c) 400 (d) 80

(5) Ratio of number of students using mode of transport bus and walking is:
(a) 11:2 (b) 12:13 (c) 11:4 (d) 3:5

T Thel H 800 BH §1 9 Whot AW o fau gfeed o fafee Gl w1 STEm s
2l ST R U uftemd o i Skl U W@ gN Qe A R—

Walking
20%

Bicycle
55%

SWF THeN o MR W fAefafed g9 & 3w e
(1) UEfFd ¥ Thd dIH o BE B @ e

(1) 120 (&) 160 (9 400 () 440
(2) &9 R HR ¥ Thod M o IE H FA FEAl B

(1) 200 (&) 540 (3 280 () 600
(3) uReed 1 wHE-G WA AfUHE BE B THS @2

(1) =4 (9) FR (W) e (3) wEfRe
(4) U< =Rl Thel @l M A Bkl HEen -

(1) 640 (&) 440 (d 400 (%) 80
(5) 9@ IR U = o1 BE H1 U T

(M) 11:2 () 12:13 @ 11:4 (2) 3:5
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18. Maths teacher conducted a class activity in class VIII. Each student was given
4 straws of lengths 3 cm, 3 cm, 4 cm and 4 cm. Students were asked to arrange
the straws to make different types of quadrilaterals. Using the above information,
answer the following questions. (Answer any 4 questions).

) ) | ( I 0 |

3 cm 3 cm 4 cm 4 cm

(1) Name the type of quadrilaterals that can be formed using these 4 straws.

(a) Square, Rectangle, Parallelogram

(b) Rectangle, Kite, Parallelogram

(c) Parallelogram, Square, Rhombus

(d) Rectangle, Square, Kite

(2) Which of the following statements is correct ?

(a) Diagonals of a parallelogram intersect at right angles.

(b) Opposite sides of a trapezium are parallel to each other.

(c) Diagonals of a rectangle are equal.

(d) Each angle of a rhombus is of 90°.

(3) Using straws if the quadrilateral formed is rectangle ABCD and AB =3 cm,
BC = 4 cm find the length AC.

(a) 7 cm (b) 6 cm (c) 5cm (d 4 cm

(4) If quadrilateral ABCD is a parallelogram and ZA = 120°, then find ZB.

(a) 220° (b) 60° (c) 80° (d) 120°

(5) If the perimeter of that figure ABCD is equal to perimeter of a square,
then area of square is :

(a) 14 cm? (b) 196 cm? () 1.96 cm? (d) 12.25 cm?

el e | WU oF f¥reteh A whem Tfafafy SIS #il U BT I 3 9L, 3 WHL
4 O, SR 4 . W daE ok 4 w1 RKu MW e w G yeR % =gds o e
& fau = & Faeen s o fau wer o

) | ] | ) | Q

3 cm 3 cm 4 cm 4 cm

ST WM o YR W fefafed g9 & SW 31 (fF=l 9” 99 o SW Sifee)
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(1) S® =q4S & YR 1 I8 daQ S8 o°@ S Gehdl 8-

(31) onl, oTEd, THMIR SgYs (9) P, T, FHAIR TGS

(F) oA =qds, o, TEeges (%) oI, &, 9am

(2) fr=fafad & 9 wFE-91 ®u w@& 2?2

(1) TR g4 o faetl T W gfaess i R

(9) UH GHeAS o faulld Uel Th g o GHERE g R

(9) TH NFd o faetl s e gl

(3) Fagyst *1 gAF w0 90° Tl 2

(3) ¥ 1 ST HW BU AR =S 1 o=@ T 3Fd ABCD € 3R AB = 3 9,
BC = 4 ¥l 2, df AC ®1 @@ A whifem

(31) 7 W (9) 6 9. (®) 5 9. (%) 4 &,

(4) = =gy ABCD h @A =qqsl ® 3R ZA = 120°, @1 /B 3@ shifsu)
(31) 220° (9) 60° (9) 80° (%) 120°

(5) =fz ampfa ABCD =1 uRem avf & uRe & aUeR & df & &1 &hd t—
(31) 14 = 9. () 196 =i gH. (9) 1.96 = Td. () 12.25 = 9.

19. Sachin goes to a shop and purchased a washing machine and microwave. The
marked price of washing machine is ¥ 20,000 and shopkeeper allows a discount
of 10% on it. While marked price of microwave is ¥ 5000. Shopkeeper allows
a discount of 20% on it.

Based on the above information answer the following questions. (Answer any

four)

SAMSUNG
WASHING

MACHINE

MICROWAVE
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(1) Selling price of washing machine is :

(a) 19,990 (b) ¥ 22,000 (c) ¥10,000 (d) ¥ 18,000
(2) Discount on the microwave is :

(a) ¥ 4800 (b) ¥ 4000 (c) ¥ 1000 (d) ¥ 4980
(3) Ratio of selling price of washing machine and microwave is :

(a) 9:2 b)) 2:9 (¢) 11:2 (d 5:3

(4) Total SP of washing machine and microwave is :
(a) ¥ 24000 (b) ¥ 28000 (c) ¥26000 (d) ¥ 22000

(5) Sachin sold the washing machine at a loss of 12%. Find the SP of the
washing machine.

(a) ¥ 15,840 (b) % 16,200 (c) 20,160 (d) 16,400

gfed Th THM W W ¢ SR Th AR WA SR wiEehled Wdsdr B iR weid
%1 3ffhd goar T 20000 B SR IHFESK 39 W 10% HT I <1 2| @ik HAGhEd
#fhd gea T 5000 8 R THFRR T W 20% H1 B <@ T

SAMSU'? 2
WASHING o
MACHINE
MICROWAVE
ST SR oh AHR W fh=l IR el o IW IS
(1) =i wefa w1 fasha qea 8-
(31) ¥19,990 (1) ¥ 22,000 (¥) T10,000 () 18,000
(2) TEEE W T B
(1) ¥ 4800 (&) %4000 (") 31000 (%) T4980
(3) it AL @R AEehied o fasha Ued &1 UM &
(1) 9:2 () 2:9 (9) 11 : 2 () 5:3
(4) difm A9 SR HEhed &1 & fawhd qed g
(31) 324000 (1) T 28000 (") T 26000 (%) T22000
(5) @fed 3 affeT weiF &l 12% w1 T W d=11 At w2id &1 foaeha qoa 9 sifg)
(31) T 15840 (&) ¥ 16200 (") ¥ 20160 (%) T 16400
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20. Shalini purchased a wooden box having dimensions 80 cm x 40 cm x 30 cm.
She wants to keep cubical jewellery boxes of side 20 cm in that wooden box.

— _— ®

OTOTOTORORROXOI ]

V% 7 I tl"a% | T eld
: ¢ 1 gt /- |7

h%_’:.{! z | = ! ¥

«————Boew —

- = W_ |
.-"f'{."”

B AN

Based on this information, answer the following questions. (Do any four)

(1) The volume of the wooden box is :
(a) 4800 cm? (b) 2400 cm? (¢) 96000 cm? (d) 8000 cm?

(2) The total inner surface area of each cubical jewellery box is :
(a) 2400 cm? (b) 3200 cm? (¢) 1200 cm? (d) 4000 cm?

(3) The ratio of the volume of wooden box to the volume of cubical jewellery

box is :

(a) 12:1 (b) 3:5 (¢c) 3:1 (d) 4:3
(4) Cost of painting jewellery box from inside, if the cost of painting is I 2

per cm?.

(a) ¥ 3200 (b) ¥ 3400 (c) T4600 (d) 4800

(5) The laternal surface area of the wooden box is :
(a) 3600 cm? (b) 7200 cm? (¢c) 2400 cm? (d) 1800 cm?

wfet 7 80 L. x 40 THL. x 30 TH. 3T A ThEl o IO i AR I8 39
AHEl oh S H 20 THL ST A SRR SMYWO Sfed WAl ded ¢l

T AN TN T
Cr AL \9;-\92\5\‘,‘7‘\!?

CE

ST SN o MY W frgl 9] w4 & S ifeu—
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(1)

(2)

(3)

(4)

()

AhS! oh dF I I BHT—

(31) 4800 cm? (&) 2400 cm? (") 96000 cm? (%) 8000 cm?

oI SRR STVl Sl s el SAYSS &k g
(31) 2400 cm? (¥) 3200 cm? (") 1200 cm? (T) 4000 cm?

AHES! o o o SAEGT I, S YUV S oh A § U B
(s1) 12 :1 (9) 3:5 | 3:1 () 4:3

TH AUV S H I W Y & ®H @@ F shM, afg dfdn @ @ra
? 2 wfd ddeX el @i

(31) 3200 (9) T 3400 (9) T 4600 (T) T 4800
AHEl oh T h UNE YT AARA e
(31) 3600 cm? (¥) 7200 cm? (9) 2400 cm? (%) 1800 cm?

Part-B ( 911-9)

Section-III (@=e-111)

21. In rectangle PQRS, diagonal PR and QS intersect at O. If ZRPQ = 30° find

ZROS.
amad PQRS #, fasof PR &R QS, O W wfiesg & ®1 9 ~«RPQ = 30° at ZROS
I it P 200 Q
@)
S R
OR ( 3797aT)
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22.

23.

24.

25.

Find the measure of ZADC in the given figure.
§ T eRfa § LADC &1 WU G kit

3
The width of a rectangle is 5 of its length. If its perimeter is 640 m, find the

dimensions of the rectangle.

2 ¢ I . ¢ 3
Th AFd &1 WISl IHR! oAarE @ = 21 afe @1 UfEM™ 640 . ®, a1 A=d hi
fommd w9 it

Write a Pythagorean triplet whose one member is 16.
T RUrRg B fafeu et s "@en 16 R
OR ( 319@r)

Sum of the squares of 2 numbers is 145. If square root of one number is 3,
find the other.

2 TEAe oF S 1 AN 145 71 A% TH e & Fgd 3T, A gEd §em §| i)

If 2¢x — 5y = 12 and xy = 4, find the value of 4x? + 25y2.
g 2 — By = 127 R xy =4 7 @ 4x® + 25y H1 TH A HifeT)

Find the smallest number by which 4860 should be multiplied so that the
product is a perfect cube.

98 Bl 9 Vel &N I S 98 4860 &1 om0 fwan ST d@ifer [UAwA TH Ui
ekl
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26.

Draw points (3, 2), (5, 2) and (7, 2) on a graph paper. Join them in pairs. Line
formed by joining these points is parallel to which axis ?

T % TR W fEg (3, 2), (5, 2) R (7, 2) Afha Wiy = Sigl ¥ fHemd) A
fagell & fao @ =t @ feq e & W@ @2

Alternative question for visually challenged students in lieu of Q. No. 26

27.

28.

Using long division method, divide 3y> + 5y% + 5y + 2 by y — 2
U W& 26 % WM W ghearuq faenrfds o fow Sewfeue wew
@el faarem fafa &1 ST wer Fefafaa & famfsa s-

3y3 + 5y + By + 2 &l y — 2 9|
Section-IV (@e-1IV)

In a fort, 600 men had provisions for food for 70 days. After 10 days, 100 men
left the fort. How long would the food last at the same rate ?

T fhet o 600 IEWi oF U 70 T o faw 9ieW @1 geEE em 10 T @6 @1’, 100
e 4 fRdd w1 Bie o Tw @ W W AiSH wd dh  Fa?

OR (319ar)

A train 250 m long is running at 80 km/hr. It crosses the bridge in 18 seconds.
Find the length of the bridge.

250 HieX ol TwH o7 80 ferll. Wl T w THR W W W T T TH YA & 18
Yohe H UR A €, SH YA HI AdE A Hiferg

Find the least number which must be added to 5431 to make it a perfect
square. Also find square root of the number so obtained.

98 B W BRI @ T Hive 59 5431 7 Sed W I8 TH YU v a9 SW| 36
YRR U G&A H1 AHA ff Aq@ hifSal
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29.

30.

The sum of the height and radius of the base of a solid cylinder is 25 m. If
the total surface area of the solid cylinder is 1100 m?, then find the volume
of the cylinder.

Th 3G S oh YR K HEE R B &1 A 25 WX ?1 Ak S/ Ao i o

g & 1100 o WX @, @ Ao 1 ST T it

The following table gives information about the number of guitars sold by a

music shop over a course of 5 years :
fre arferst ofe of & SRA Tk @i w1 SRE gR s U fRRl 1 wen o WR
¥ SFHE @ e

Years 2016 2017 2018 2019 2020

Guitars sold 850 1000 950 700 450

Plot a graph to show this information.

T TSI i /A o fau T e SHEu|

Alternative question for visually challenged students in lieu of Q. No. 30

The numerator of a rational number is less than its denominator by 3. If the
numerator becomes three times and denominator increased by 20, the rational

1
number becomes g Find the rational number.

U9 W@ 30 % WM W ghearfiuq faenfds o fow Sewfeue wew

TH T W@ 1 Y IUh W W 3 HH B AR W o T R KA S © iR
Hzoa@ﬁmw%,aﬁwﬁﬁaméﬁaﬁ%,v&ﬁammﬁm|

VIlI-Mathematics (14)



31.

32.

33.

34.

In the given figure Z/x : £y =2 :1 and AD || BC, DC is a transversal line. Find
the measurement of Zx, £y and Zz.

few mw fo H sx: 4y =2:13R AD || BC ®1 DC T 3M¥e W@l 81 Lx, Ly
AR Lz o HAG @ SIS

C
Find the value of &, if (2x — y)? — (2x + y)? = 4«xy k.

Bl M F| wifee, a2 — )% — (2x + y)? = day k B
OR ( 319ar)

Factorise : ([UM@S IfST) : « Zxy - 22 4 =

2 2
2+y_+z__2 yz o 2x
9 16 3 6 2

2x+4 _ 25 % 2x _3
Solve : (ga #IfEw) : 5 gD -2

Section-V (@e-V)

Construct a quadrilateral ABCD in which AB = 5.5 cm, BC = 4 cm, ZA = 60°,
/B = 105° and £ZD = 90°. Measure the length of each diagonal.

w =g ABCD &1 @1 sifsq fsed AB = 5.5 96, BC = 4 9., /A = 60°,
/B =105° 3R /D = 90°, g fashol &) e ! @)

Alternative question for visually challenged students in lieu of Q. No. 34

5 _
If 5 x 2% —2°°1 =16, find the value of x.

U9 W& 34 & WM W ghedfya faenfds & fau defes ww

5 _
BIE §><2x—2x1=16 2, @ x H TA TG BT
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35.

36.

A steamer goes downstream from one port to another in 6 hours. It cover the
same distance upstream in 8 hours. The speed of the stream is 4 km/hr.

(1) Find the speed of steamer in still water.
(2) Find the distance between 2 ports.

Tk WIR T & 989 % WA Th o950e TR SSUE 9% 6 Fe W UgHdl g1 =
T o8 Ul o Wed o faeg 8§ e W 9 Hial @1 AR UMl o werd whi A 4 el
ufa s 7

(1) E & 3 9+t ° 7fq I wifsm)

(2) < T % A A T Tw FR

Ripu lent out ¥ 20000 for 2 years at 20% per annum, compounded annually. How

much more she could earn, if the interest be compounded half yearly ?

g = 20000 T 9@ & faw 20% 9fd a9 &1 R ¥ IUR a1, S anftier €9 & 9o
2 AR = sniaifie ®9 9§ GAIf fRen STaT @ 9 fohRal St w1 gt @7

OR (319ar)

The difference between CI and SI on a certain sum of money is T 61 at 5% per

annum for 3 years when the interest is compounded annually. Find the sum.

frdt ufSr @1 5% aiftfr W ¥ 3 o & fou wohgfg =9 iR WHRU & 1 3
61 T9 ® Wi oA aiftier HASd Bl €, @ TR A s

00oa

VIlI-Mathematics (16)



